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T 1.4.4
1.4.4 15
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1 pH
15 8 16 3
1 SO NO; 2
15 8 10 Na® Cl
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pH
145 1
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1.4.6 pH 1

61 4.9 7 4.9 4.9 1 58 62
62 4.9 8 4.8 4.9 44 55
63 4.7 9 4.8 4.8 2 63 4
4.6 10 5.0 5.1 45 58
2 4.7 4.8 1 4.9 4.8 3 5 9
3 4.6 4.7 12 4.8 4.8 44 59
4 4.6 4.6 13 4.5 4.6 4 10 12
5 4.8 4.8 14 4.7 4.8 447 6.15
13 14
6 4.7 4.7 15 4.6 4.7 434 6.25
2 5 6 14
15
14.7
1.4.3
1.4.4
1.4.7 15 meq/m?/
S0,% |[nssSO2| NOj Cl- H* NH,* Cca?* M g?* K* Na*
123 87 47 329 64 52 32 66 11 296
45 39 17 54 31 18 8.6 12 2.9 49
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20
—e— H'( )
L5 O - H+( )
—A&— nssCa” (
10 AR nss_Ca2+(

mm
600

500 }

400 F

9 10 11 12 16 116 2 3

1.4.4

meg/0 /
120

100 } —o— nss-SO,”
80 | e P _

© NO;
60 |

Oooooooodg

20 }

11 12 13 14 15

58



148 pH 6.5 6.7 f
0.39 0.75 T pH
145
1.4.8 15
H mg//
. meg// | SOZ | NO; | cr- [ NHS | c@ | Mg | KT | Na | T-A/
6.7 0.75 14| 05| 40| o8| 81| 15| 047| 38| 053
6.5 0.39 0.6 0.2 33 <0.1 47 0.9 0.28 35 0.06
1.4.5 pH
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60

3
1.4.10 15
1.4.10
/ 13 14 15 14
12 98 110 97 103 83 104 21 137 nGy/h
36 100 34 114 29 108 16 120 nGy/h
GM
ND 3.9 ND 3.3 ND 4.2 ND 9.0 Bq//
4 ND ND ND ND mBg/m?
12 ND 0.30 ND 0.14 ND 0.085 ND 027 MBg/km?
2*
14 ND ND ND ND 0.19 mBgy/¢
1 ND ND ND ND 0.054 Ba/kg
1 ND ND ND ND 15 Ba/kg
137CS
i 1 ND ND ND ND 0.29 Ba/kg
B o* Cs ND | ¥"CsND 0.032 | ®'Cs ND | ®¥'CsND 0.27
131 131 131 131 Bg//
1x* I ND |3y ND | ND | By ND
4* ND
M 0.035 ND 0.046 ND 0044 | ND 0.097 B/
1 87 ND ND ND 1,600 MBg/kn?
1 ND ND ND ND 2,800 MBg/km?
1
2 3 ND
3 15
4 M =10° 100
m =10° 1,000 1 n =10° 10 1
Gy 1Gy 1kg
1J
Bq 1Bq 1 1
* 13 14
* % 15




